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DEF ANDS(A/3)

N=] M=0
IF A<=2 THEN "NAND2(&A[1:21,743);",N=A+] =0I
IF A=3 THEN "NAND3(&AC1:31,7&3);",N=A+1 =Z0I
IF A=4 THEN "NAND4(&ALl:41,743);",N=A+] =01
WHILE A>N+3 DO

"NANDA(&ACN:N+3],N&MA&*);",

N=N+4 ,M=M+1 EOV
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IF A=N THEN "INV(&AEN],W&MA&*);-,M=M+l EGI
IF A=N+1 THEN "NANDQ(&A[N:N+1]}W&MA&*);",M=M+1 z01
IF A=N+2 THEN "NANDS(&A[N:N+2J,W&MA&*);",M=M+l E0I
IF M=2 THEN -NORZ(WUA&*,WlA&*,&B);” EOCI
IF M=3 THEN "NOR3(WOA&*,WIA&*,WZA&*,&B);' 01
IF M=4 THEN "NDRQ(WUA&*,WIA&*,NZA&*,W3A&*,&3);" EOI
IF M>4 THEN ERROR("ANDS TOO MANY INPUT™ ,A) Z0I
EO0D
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R=0%0,14E-8/P
WHILE (R<1.4E3)+(R>4.024) DO
IF R<1.4ZI3 THEN P=P/10 EOI,

IF 3>4.0Z4 THEN P=P*10 EQI,
R=0%0,142-8/P EQV
"SHOT (&A,GND,VCC ,CXRX&*,CX&*,43,7a3);"
"RG(VCC ,CXRX&*, 43D ;"
"CAP (CXRX&*,CX&4*,&P); "
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SHOT(BFYT ,GND,VCC ,CXRXS,0X6,STR3, "5T33)
RG(JCC,CXRX6,2.7923)
CAP(CXRX5 ,CX6,1.00E-10)
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.BRECV("BDALC0:121/DAC0:123);

.BRECV(("BBS7, "BSYNC, "BDOUT, "BDIN, "BIAKI, "BINIT)/(I10,SYNC,DOUT,DIN, IAKI,INIT))}

.TST(DAL1:121,2003/CALL);
DFF(CALL,SYNC, , /CALED, CALED);
AND2(DOUT ,SYNC,WT);
.DECORD((BUFFER,CALED) ,WT /¢
.DECORD ((BUFFER,CALED),RD/( ,
OR2 (ERR,DONE,RAST);

DFF (DAl ,SYNC, , /BUFFER, BUFFER);

AND2(DIN,SYNC,RD);
» "STWT, "BFWT));
» "STRD, "BFRD));

«INTM(DAS ,STWT ,RAST ,IAKI,DIN,INIT/IRQ,VEC,1AKO, INTEN3);

.0RSC((STWT ,BFWT,STRD,BFRD,VEC) /RPLY);

.DELAY ((LPEMG,LPPALL,LP3USY,LPOFL, "LPTIME)>,1000/LPS[1:51);
<RECV(LPSC1:51/C("ERR, "PALL, "BUSY, "OFL,TIME));

AND2("OFL, "TIME,WAIT);
+» REG((ERR,PAAL,DONE, INTENB) ,5TRD,
«BDRIV(C(IRY,IAKO,VEC,RPLY),

AND2("BUSY,WAIT,DONZ) ;

/STC1:41);
/("BIRQ, "BIAKO, "3DAL7, 33°PLY));

«BDRIV(STC1:41,STRD/C( "3DALC15:141, BDALC7:561));

LPULSE(BFWT,3.0E2/30MCS)
LPULSE(BFWT,2.0E2/5TB);
.FSROM(DAFL0:71, ROMCS/0C1:81);

«DRIV((INIT, STB, 5TB)>,1000/( "RESET,START,STR33));

LDRIV(OLL:73,1000/D006:01)3

A 5% P49 7:-2BEEe 270% % Seip

3RECV("3DAL0,DAD)

3RECY ("3DALI ,DAL)
BRECY("3DAL2,DA2)
3RECY("3DALJI,DA3)
3RECV < 3dAL4,DA4)
BRECV("3DAL5,DAS5)

3RECV("3DALS ,DAS)
BTCV("3DALT,DAT)
3RZCV("3DALE,DA8)
3RECV(TBDALY,DA)
3RECY(T3DALLIO,DALD)
3RICV(T3DALIL,DALL)
3RECV("3DALIZ2,DA12) N
3RECV(T3357,10)
BRECV("BSYNC,3YNC)
3RECY(~3DOUT,DOUT)
3RECV(T3DIN,DIN)
BRECV("3IAKI, IAKI)
BRECV(TBINIT,INIT)

NAND4 ("DAl, "DAZ,DA3,DA4,W0AL)
NAND4 ("DA5,DA%, "DAT7, "DAZ,W1Al)
NOR2(W0Al,WlAl,CALL)
DFF(CALL,5YNC, , /CALZD, CALED)
DFF(DAl,SYNC, , /BUFFZR, "3UFFER)
AND2(DOUT ,3YNC,WT)
AND2(DIN,SYNC,3D)
DECO2(3UFFER,CALED, "WT, ,
DECO2(BUFFZR,CALED, "RD, ,
OR2(ZRR,DONE,RAST) '

s TSTUT, "BFUT)
» "STRD, "BFRD)

RG(LPBUSY,LP53,100)

CAP(LP33,GND, ] .425-8)

RG(LPOFL,LPS4,100)

CAP(LP34,GND, 1 .425-8)

RGCTLPTIME,LPS55,100)

CAP(LP55,GND, 1 .425-8)

RECV(LPS31, "E3R)

RECV(LPS2, "PALL)

RECV(LPS3,  BUSY)

RECV(LPS54, OFL)

RECY(LPS5,TIME)

AND2("OFL, "TIMZ,WAIT)

AND2("BUSY,WAIT,DONE)

RZG4 (ERR,PAAL,DONE, INTEN3,R4,
3,3T4,73T1,"5T2, ST3, "ST4)

AND2(STRD, ,R4)

3DRIV(IRY, , 3IR

3DRIV(IAKGO, , 3IAKO)

3DRIV(JVEC, , 3DAL7)

BDRIV(RPLY, , 3BRPLY)

BDRIV(ST1,3TRD, "3DALL5)

3DRIV(3T2,3TRD, "BDAL14)

3DRIV(ST3,STRD, "BDALT)

3DRIV(53T4,5TRD, "3DALS)

SHOT (3FYWT,GND,VCC ,CX3X5,CX%X5,R0MCS, "ROMC

RG(VCC,CXRX3,4.19E3)

CAP (CXRX3,0%X5,1.002-10)

SHOT (3FWT ,GND,JCC,0X3X6,CX5,3T3, 5T3)

RG(VCC,CXRX5,2.7953)

CAP (CXRX56,CX6,1.002-10)

»ST1,ST2,ST

DEF(DAS,5TWT, , INIT,INTZN3, INTEN3)
AND2 (INTEN3,RAST,11M2)
DFF(VCC,I1M2, INIT,VEC,I2M2, 12M2)

FS255(DA0,DAl ,DA2,DA3,DA4,DAS5,DA6,DA7, RO
mcs,01,02,03,04,05,06,07,08)
DRIVCINIT, "RESET) RG(VCC, "RESET, 1000

AND2(I3M2,IAKI,VEC)
DFF(IRQ,DIN, ,"INIT,I3M2, 13M2)
AND2(I2M2,I1M2,133)

DRIV("ST3,START)
DRIV("ST3,ST33)

RG(VCC,3TART,1000)
RG(VCC,3TRZ,1000)

DRIV (Ol ,D6)
DRIV(02,D35)
DRIV (03,D4)
DRIV (04,D3)
DRIV(O5,D2)>
DRIV(D5,D1)
DRIV (0O7,D0)

RGCVCC,D6,1000)
RG(YCC,D5,1000)
RG(VCC ,04,1000)
RG(VCC,D3,1000)
RG(VCC,D2,1000)
RGC(UCC,D1,1000)
RG(YCGC,D0,1000)

AND2("13M2,IAKI, INTZN3)
NOR4(STHT ,3FWT ,STRD,3FRD,W0A3)
INVC(VEC ,W1A3)
NAND2(W0A3,W1A3,RPLY)
RG(LPEMG,LPS1,100)
CAP(LPS1,GND,! .425-8)
RG(LPPALL,LPS2,100)
CAP(LPS52,GND,1 .42E-8)
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